Spring 2014

Geometry CC Midterm Exam REVIEW Name: KE\f

Simplify each of the following:
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13. Whatis “standard form” of a complex number? Given an example.
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14. Explain and give examples of how to find the conjugate of a complex number.
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Factor each of the following:
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24. Given a quadratic function, like f(x) = 3x? — 6x + 1, describe how to know:

(a) whether it opens up or down (give examples)
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(b) whether it has a maximum or minimum value at the vertex:
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(c) how to find the actual “maximum value” or “minimum value”
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Graph each of the following. Use a table to find the zeros:

Find the vertex and axis of symmetry (AOS) for each of the following:
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Match the four graphs to the functions they depict: Draw the AOS on all graphs below.
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State the domain and range of each of the graphs below:
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37. Describe the transformations from the parent function for g(x) = 2 (x -1 +4.
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38. Write the equation for a quadratic function created by reflecting the parent function across the x-
axis, vertically shrinking it by a factor of %, and horizontally shifting it to the right 2 units.
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40. Sketch the graph of a quadratic function with zeros @ -3 and 4 which opens downward.
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Simplify each of the following:
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44. Write x /2 in radical form.
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45. Write (3/m) * with a fractional radical.
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